Some identities associated with theta functions and tenth order mock theta functions

M.P. CHAUDHARY*, ©0000-0002-7329-2732, SALEM GUIBEN ©0009-0008-1804-5641, KAMEL MAZHOUDA ©0000-0002-7284-9404

ABSTRACT. The main object of this paper is to present some identities associated with theta functions and tenth order mock theta functions. Several closely-related identities such as (for example) *q*-product identities and Jacobi's triple-product identity are also considered.

1. Introduction

Three months before his death in early 1920, Ramanujan sent a letter to Hardy in which there were 17 functions, which he called mock theta functions. They are classified into three groups, four of order three, ten of order five and three of order seven. These mock theta functions are q-series converging for |q| < 1 and have certain properties as theta functions when q tends to a root of unity.

Throughout this paper, we denote by \mathbb{N} , \mathbb{Z} and \mathbb{C} the set of positive integers, the set of integers and the set of complex numbers respectively. We also let

$$\mathbb{N}_0 := \mathbb{N} \cup \{0\} = \{0, 1, 2, \dots\}.$$

The q-shifted factorial $(a;q)_n$ is defined (for |q| < 1) by

(1)
$$(a;q)_n := \begin{cases} 1, & n = 0; \\ \prod_{k=0}^{n-1} (1 - aq^k), & n \in \mathbb{N}; \end{cases}$$

where $a, q \in \mathbb{C}$ with $a \neq q^{-m}$ $(m \in \mathbb{N}_0)$. We also write

(2)
$$(a;q)_{\infty} := \prod_{n=0}^{\infty} (1 - aq^n) = \prod_{n=1}^{\infty} (1 - aq^{n-1}), \quad a, q \in \mathbb{C}; |q| < 1.$$

It should be noted that, when $a \neq 0$ and $|q| \geq 1$, the infinite product in (2) diverges. So, whenever $(a;q)_{\infty}$ is involved in a given formula, the constraint

²⁰²⁰ Mathematics Subject Classification. 05A15, 05A17,11P82, 11P83.

Key words and phrases. Theta functions, mock theta functions, q-product identities. Original Research Paper. Received 18 Nov 2024, accepted 12 Dec 2024, online 22 Jan 2025.

|q| < 1 will be *tacitly* assumed to be satisfied. The following notation will be frequently used in our investigation:

(3)
$$(a_1, a_2, a_3, \dots, a_k; q)_n = (a_1; q)_n (a_2; q)_n (a_3; q)_n \cdots (a_k; q)_n, n \in \mathbb{N} \cup \{\infty\}.$$

Ramanujan (see [14, p. 13] and [13]) defined the general theta function f(a, b) as follows:

$$f(a,b) = 1 + \sum_{n=1}^{\infty} (ab)^{\frac{n(n-1)}{2}} (a^n + b^n)$$
$$= \sum_{n=-\infty}^{\infty} a^{\frac{n(n+1)}{2}} b^{\frac{n(n-1)}{2}} = f(b,a), \quad |ab| < 1,$$

where a and b are two complex numbers. The three most important special cases of f(a, b) are defined (see [11]) by

(4)
$$\phi(q) = f(q,q) = 1 + 2\sum_{n=1}^{\infty} q^{n^2} = (-q; q^2)_{\infty}^2 (q^2; q^2)_{\infty}$$
$$= \frac{(-q; q^2)_{\infty} (q^2; q^2)_{\infty}}{(q; q^2)_{\infty} (-q^2; q^2)_{\infty}},$$

(5)
$$\psi(q) = f(q, q^3) = \sum_{n=0}^{\infty} q^{\frac{n(n+1)}{2}} = \frac{(q^2; q^2)_{\infty}}{(q; q^2)_{\infty}}$$

and

(6)
$$\mathfrak{f}(-q) = f(-q, -q^2) = \sum_{n=-\infty}^{+\infty} (-1)^n q^{\frac{n(3n-1)}{2}} = (q; q)_{\infty}.$$

The last equality is known as *Euler's Pentagonal Number Theorem*. For the remainder of this paper, we note

$$(7) f_r := (q^r; q^r)_{\infty},$$

in order to shorten all formulas. Then (see [8, Lemma 2])

(8)
$$\phi(q) = \frac{f_2^5}{f_1^2 f_4^2},$$

$$\phi(-q) = \frac{f_1^2}{f_2},$$

(10)
$$\psi(q) = \frac{f_2^2}{f_1}$$

and

(11)
$$\chi(-q) = \frac{f_1}{f_2}.$$

Ramanujan also defined the function (see [15])

$$\chi(q) = (-q; q^2)_{\infty} = \frac{f_2^2}{f_1 f_4}.$$

Remarkably, the q-series identity

$$(-q;q)_{\infty} = \frac{1}{\chi(-q)}$$

provides the analytic equivalent form of Euler's famous theorem. We also have

(12)
$$(-q;q)_n = \frac{1}{(q;q^2)_n},$$

since for all $k \in \mathbb{N}$

$$1 + q^k = \frac{1 - q^{2k}}{1 - q^k}$$

and

$$(-q;q)_n = \prod_{k=1}^n (1+q^k) = \prod_{k=1}^n \frac{1-q^{2k}}{1-q^k}$$
$$= \prod_{k=1}^n (1-q^{2k-1})^{-1}$$
$$= \prod_{k=0}^n (1-q^{kn+1})^{-1} = \frac{1}{(q;q^2)_n}.$$

Moreover,

(13)
$$\chi(q) = (-q; q^2)_{\infty} = \frac{1}{(q; q^2)_{\infty} (-q^2; q^2)_{\infty}}$$

holds, since

$$(-q;q^{2})_{\infty} = \prod_{n=1}^{\infty} (1+q^{2n-1}) = \prod_{n=1}^{\infty} \frac{1+q^{n}}{1+q^{2n}}$$

$$= \prod_{n=1}^{\infty} \frac{1-q^{2n}}{(1-q^{n})(1+q^{2n})}$$

$$= \prod_{n=1}^{\infty} \frac{1}{(1-q^{2n-1})(1+q^{2n})}$$

$$= \frac{1}{(q;q^{2})_{\infty}(-q^{2};q^{2})_{\infty}}.$$

Rogers-Ramanujan's identities. We recall the Rogers-Ramanujan functions

(14)
$$G(q) = \sum_{n=0}^{\infty} \frac{q^{n^2}}{(q,q)_n} = \frac{1}{(q;q^5)_{\infty}(q^4;q^5)_{\infty}} = \frac{(q^2;q^5)_{\infty}(q^3;q^5)_{\infty}(q^5;q^5)_{\infty}}{(q;q)_{\infty}},$$

(15)
$$H(q) = \sum_{n=0}^{\infty} \frac{q^{n(n+1)}}{(q;q)_n} = \frac{1}{(q^2;q^5)_{\infty}(q^3;q^5)_{\infty}} = \frac{(q;q^5)_{\infty}(q^4;q^5)_{\infty}(q^5;q^5)_{\infty}}{(q;q)_{\infty}}$$

and

(16)
$$R(q) = q^{1/5} \frac{H(q)}{G(q)} = \frac{q^{1/5} (q; q^5)_{\infty} (q^4; q^5)_{\infty}}{(q^2; q^5)_{\infty} (q^3; q^5)_{\infty}}.$$

Remark 1.

- In the second equality of (14), the left-hand side can be interpreted as the number of partitions of n whose shares differ by at least 2, the right-hand side is the number of partitions of n in portions congruent to 1 or 4 modulo 5.
- In the second equality of (15), the left-hand side is the generating series of partitions of n into parts such that two adjacent differ by at least 2 and such that the smallest part is at minus 2, whereas the right-hand side $\frac{1}{(q^2;q^5)_{\infty}(q^3;q^5)_{\infty}}$ is the generating series of the partitions of n such that each part is congruent to 2 or 3 modulo 5.

Andrews et al. [3, p. 5] introduced the general family R(s, t, l, u, v, w),

(17)
$$R(s,t,l,u,v,w) := \sum_{n=0}^{\infty} q^{s\binom{n}{2} + tn} r(l,u,v,w:n),$$

where

(18)
$$r(l, u, v, w : n) := \sum_{j=0}^{\left[\frac{n}{u}\right]} (-1)^j \frac{q^{uv\binom{j}{2} + (w-ul)j}}{(q; q)_{n-uj}(q^{uv}; q^{uv})_j}.$$

In the following proposition, we give three particular cases of double q-hypergeometric series R.

Proposition 1 ([3, p. 5]). We have

(19)
$$R_{\alpha} := R(2, 1, 1, 1, 2, 2) = (-q; q^2)_{\infty},$$

(20)
$$R_{\beta} := R(2, 2, 1, 1, 2, 2) = (-q^2; q^2)_{\infty}$$

(21)
$$R_m := R(m, m, 1, 1, 1, 2) = \frac{(q^{2m}; q^{2m})_{\infty}}{(q^m; q^{2m})_{\infty}}, \quad m \in \mathbb{N}^*.$$

Let us recall Ramanujan's celebrated congruences for the partition function p(n) (see [16]):

$$p(5n+4) \equiv 0 \pmod{5},$$

 $p(7n+5) \equiv 0 \pmod{7}$

and

$$p(11n+6) \equiv 0 \pmod{11}.$$

In 1944 Dyson [6] defined the rank of a partition to be the largest part minus the number of parts of the partition. Let N(m, n) denote the number of partitions of n with rank m and N(m, t, n) be the number of partitions of n with rank congruent to m modulo t. Dyson conjectured that

$$N(k, 5, 5n + 4) = \frac{p(5n + 4)}{5}, \quad 0 \le k \le 4$$
 (a)

and

$$N(k,7,7n+5) = \frac{p(7n+5)}{7}, \quad 0 \le k \le 6.$$
 (b)

Thus, if (a) and (b) are true, the partitions counted by p(5n+4) and p(7n+5) fall into five and seven equinumerous classes respectively. Furthermore, Dyson settled that the generating function for N(m,n) satisfies

$$\sum_{m=-\infty}^{+\infty} \sum_{n=0}^{\infty} N(m,n) z^m q^n = \sum_{n=0}^{\infty} \frac{q^{n^2}}{T_n(z;q)}, \quad |q| < 1, \ |q| < |z| < \frac{1}{|q|}, \quad (c)$$

where

(22)
$$T_n(z,q) := (zq;q)_n(z^{-1}q;q)_n,$$

where all symbols and notations are having their usual meanings.

2. Preliminaries

In this section, we record some basic results, which are given below.

Theorem 1. Let

(23)
$$T_{\infty}(z,q) := (zq;q)_{\infty}(z^{-1}q;q)_{\infty},$$

 R_{α} the quantity given by (19), $\phi(q)$ is defined by (4), $R_n = \psi(q^n)$, f_n is defined by (18) and ψ is defined by (5). Then, we have

(24)
$$T_{\infty}(-q, q^2)T_{\infty}(-1, q^2) = \frac{f_4}{f_1}(-q^3; q^2)_{\infty},$$

(25)
$$\phi^2(q) - \psi(q) f_1 R_{\alpha}^4 = 0,$$

(26)
$$\phi(q)f_4(q^2; q^4)_{\infty} - \psi^2(q) = 0$$

(27)
$$\phi(q) - \psi(q)R_{\alpha}(q^2; q^4)_{\infty} = \phi(q) - R_1 R_{\alpha}(q^2; q^4)_{\infty} = 0.$$

Proof. In (23), substituting q by q^2 and letting z = -q, we get

$$T_{\infty}(-q, q^2) = (-q^3; q^2)_{\infty}(-q; q^2)_{\infty}.$$

Hence, from (13) and (22), we obtain

$$T_{\infty}(-q, q^{2}) = (-q^{3}; q^{2})_{\infty}(-q; q^{2})_{\infty} = \frac{(-q^{3}; q^{2})_{\infty}}{(q; q^{2})_{\infty}(-q^{2}; q^{2})_{\infty}}$$

$$= \frac{(-q^{3}; q^{2})_{\infty}(-q^{2}; q^{2})_{\infty}}{(q; q^{2})_{\infty}T_{\infty}(-1, q^{2})}$$

$$= \frac{(-q^{3}; q^{2})_{\infty}(-q^{2}; q^{2})_{\infty}(q^{2}; q^{2})_{\infty}}{(q; q^{2})_{\infty}T_{\infty}(-1, q^{2})(q^{2}; q^{2})_{\infty}}.$$

A simple verification gives

$$(q^2; q^2)_{\infty} (-q^2; q^2)_{\infty} = (q^4; q^4)_{\infty}$$

and

$$(q; q^2)_{\infty}(q^2; q^2)_{\infty} = (q; q)_{\infty}.$$

Therefore

$$T_{\infty}(-q,q^2) = \frac{(-q^3;q^2)_{\infty}(q^4;q^4)_{\infty}}{T_{\infty}(-1,q^2)(q;q)_{\infty}} = \frac{(-q^3;q^2)_{\infty}f_4}{T_{\infty}(-1,q^2)f_1}.$$

Hence (24) holds.

To prove identity (25), we use (4)-(6) and (19). Then, we have

$$\phi^{2}(q) = (-q; q^{2})_{\infty}^{4} (q^{2}; q^{2})_{\infty}^{2} = R_{\alpha}^{4} (q^{2}; q^{2})_{\infty}^{2}$$

$$= R_{\alpha}^{4} (q^{2}; q^{2})_{\infty} (q^{2}; q^{2})_{\infty} \frac{(q; q^{2})_{\infty}}{(q; q^{2})_{\infty}} = R_{\alpha}^{4} \frac{(q^{2}; q^{2})_{\infty}}{(q; q^{2})_{\infty}} (q; q)_{\infty}$$

$$= R_{\alpha}^{4} \psi(q) f_{1}.$$

Similarly, one has

$$\phi(q)f_4(q^2;q^4)_{\infty} = (-q;q^2)_{\infty}^2(q^2;q^2)_{\infty}(q^4;q^4)_{\infty}(q^2;q^4)_{\infty}$$
$$= (-q;q)_{\infty}^2(q^2;q^2)_{\infty}^2 = \psi^2(q).$$

This gives (26).

Now, we have

$$\psi(q)R_{\alpha}(q^{2};q^{4})_{\infty} = \frac{(q^{2};q^{2})_{\infty}}{(q;q^{2})_{\infty}}(-q;q^{2})_{\infty}(q^{2};q^{4})_{\infty}$$

$$= (-q;q^{2})_{\infty}(q^{2};q^{2})_{\infty} \frac{(q^{2};q^{4})_{\infty}}{(q;q^{2})_{\infty}}$$

$$= (-q;q^{2})_{\infty}(q^{2};q^{2})_{\infty} \frac{1}{(q;q^{2})_{\infty}(-q^{2};q^{2})_{\infty}}$$

$$= (-q; q^2)_{\infty}^2 (q^2; q^2)_{\infty} = \phi(q).$$

This completes the proof of Theorem 1.

3. Tenth order mock theta functions

In his lost notebook [13, p. 9], Ramanujan recorded four mock theta functions:

(28)
$$\Phi(q) = \sum_{n=0}^{\infty} \frac{q^{\frac{n(n+1)}{2}}}{(q;q)_{n+1}},$$

(29)
$$\Psi(q) = \sum_{n=0}^{\infty} \frac{q^{\frac{(n+1)(n+2)}{2}}}{(q;q)_{n+1}},$$

(30)
$$D(q) = \sum_{n=0}^{\infty} \frac{q^{n^2}}{(q; q^2)_n}$$

and

(31)
$$\chi(q) = \sum_{n=0}^{\infty} \frac{(-1)^n q^{(n+1)^2}}{(-q; q^2)_{2n+1}}.$$

All these mock theta functions have been shown to be of order ten by Y. S. Choi [10, 12].

Let us define the q-binomial coefficient by

$$\begin{bmatrix} n \\ m \end{bmatrix}_q := \begin{cases} \frac{(q;q)_n}{(q;q)_m(q;q)_{n-m}}, & 0 \le m \le n; \\ 0, & \text{otherwise.} \end{cases}$$

We need some identities between the q-product and the q-binomial series. From [4, Equations (12-15), p. 616], we have

(32)
$$(z;q)_n = \sum_{m=0}^n \begin{bmatrix} n \\ m \end{bmatrix}_q (-1)^m z^m q^{m(m-1)/2}$$

and

(33)
$$\frac{1}{(z;q)_n} = \sum_{m=0}^{\infty} {n+m-1 \brack m}_q z^m.$$

Let us define some functions:

(34)
$$\Phi_z(q) = \sum_{n=0}^{\infty} \frac{z^n q^{\frac{n(n+1)}{2}}}{(q;q)_{n+1}},$$

(35)
$$\Psi_z(q) = \sum_{n=0}^{\infty} \frac{z^n q^{\frac{(n+1)(n+2)}{2}}}{(q;q)_{n+1}}$$

(36)
$$D_z(q) = \sum_{n=0}^{\infty} \frac{z^n q^{n^2}}{(q; q^2)_n}.$$

Note that $\Phi_1(q) = \Phi(q)$, $\Psi_1(q) = \Psi(q)$ and $D_1(q) = D(q)$.

Theorem 2. Under the above notation, we have

$$\Phi_z(q) = \sum_{n=0}^{\infty} \frac{z^n q^{n(n+1)/2}}{(q;q)_{n+1}} = \sum_{n=0}^{\infty} q^n (-z;q)_n, \tag{A1}$$

$$\Psi_z(q) = q \sum_{n=0}^{\infty} \frac{z^n q^{n(n+3)/2}}{(q;q)_{n+1}} = q \sum_{n=0}^{\infty} q^n (-zq;q)_n$$
 (A2)

and

$$D_z(q) = 1 + qz \sum_{n=0}^{\infty} \frac{z^n q^{n(n+2)}}{(q;q^2)_{n+1}} = 1 + qz \sum_{N=0}^{\infty} q^N (-zq^2;q^2)_N.$$
 (A3)

Proof. To prove (A1), we use identities (32), (33) and (34). Then, we get

$$\Phi_{z}(q) = \sum_{n=0}^{\infty} \frac{z^{n} q^{\frac{n(n+1)}{2}}}{(q;q)_{n+1}}$$

$$= \sum_{n=0}^{\infty} z^{n} q^{\frac{n(n+1)}{2}} \sum_{m=0}^{\infty} q^{m} {n+m \choose m}_{q}$$

$$= \sum_{m=0}^{\infty} q^{m} \sum_{n=0}^{\infty} z^{n} q^{\frac{n(n+1)}{2}} {n+m \choose m}_{q}.$$

Let k = m + n. Hence, we obtain

$$\Phi_{z}(q) = \sum_{m=0}^{\infty} q^{m} \sum_{n=0}^{\infty} z^{n} q^{\frac{n(n+1)}{2}} {n+m \brack n}_{q} = \sum_{k=0}^{\infty} q^{k} \sum_{n=0}^{k} z^{n} q^{\frac{n(n-1)}{2}} {k \brack n}_{q}$$

$$= \sum_{k=0}^{\infty} q^{k} \sum_{n=0}^{k} (-1)^{n} (-z)^{n} q^{\frac{n(n-1)}{2}} {k \brack n}_{q}$$

$$= \sum_{k=0}^{\infty} q^{k} (-z; q)_{k}.$$

To prove (A2), we use identities (32), (33), (35). Therefore, we have

$$\Psi_z(q) = q \sum_{n=0}^{\infty} \frac{z^n q^{\frac{n(n+3)}{2}}}{(q;q)_{n+1}}$$

$$= q \sum_{n=0}^{\infty} z^n q^{\frac{n(n+3)}{2}} \sum_{m=0}^{\infty} q^m \begin{bmatrix} n+m \\ m \end{bmatrix}_q$$

$$=q\sum_{m=0}^{\infty}q^{m}\sum_{n=0}^{\infty}z^{n}q^{\frac{n(n+3)}{2}}\begin{bmatrix}n+m\\n\end{bmatrix}_{q}.$$

Taking k = m + n yields

$$\Psi_{z}(q) = q \sum_{m=0}^{\infty} q^{m} \sum_{n=0}^{\infty} z^{n} q^{\frac{n(n+3)}{2}} \begin{bmatrix} n+m \\ n \end{bmatrix}_{q}$$

$$= q \sum_{k=0}^{\infty} q^{k} \sum_{n=0}^{k} z^{n} q^{\frac{n(n+1)}{2}} \begin{bmatrix} k \\ n \end{bmatrix}_{q}$$

$$= q \sum_{k=0}^{\infty} q^{k} \sum_{n=0}^{k} (-1)^{n} (-zq)^{n} q^{\frac{n(n-1)}{2}} \begin{bmatrix} k \\ n \end{bmatrix}_{q}$$

$$= q \sum_{k=0}^{\infty} q^{k} (-zq; q)_{k}.$$

We use the same argument to obtain (A3). One has

$$D_z(q) = \sum_{n=0}^{\infty} \frac{z^n q^{n^2}}{(q; q^2)_n} = 1 + \sum_{n=1}^{\infty} \frac{z^n q^{n^2}}{(q; q^2)_n}$$
$$= 1 + zq \sum_{n=0}^{\infty} \frac{z^n q^{n(n+2)}}{(q; q^2)_{n+1}},$$

Let us replace N by n+m, we deduce

$$D_{z}(q) = \sum_{n=0}^{\infty} \frac{z^{n} q^{n(n+2)}}{(q; q^{2})_{n+1}} = \sum_{n=0}^{\infty} z^{n} q^{n(n+2)} \sum_{m=0}^{\infty} q^{m} \begin{bmatrix} n+m \\ n \end{bmatrix}_{q^{2}}$$

$$= \sum_{m=0}^{\infty} q^{m} \sum_{n=0}^{\infty} z^{n} q^{n(n+2)} \begin{bmatrix} n+m \\ n \end{bmatrix}_{q^{2}}$$

$$= \sum_{N=0}^{\infty} q^{N} \sum_{n=0}^{N} (-1)^{n} (-zq^{2})^{n} q^{n^{2}-n} \begin{bmatrix} N \\ n \end{bmatrix}_{q^{2}}$$

$$= \sum_{N=0}^{\infty} q^{N} (-zq^{2}; q^{2})_{N}.$$

Application 1.

1. We have

$$\sum_{n=0}^{\infty} \frac{(-1)^n q^{n(n+1)/2}}{(q;q)_n} = 0.$$

Indeed, z = -1 in the identity (A1) yields

$$\sum_{n=0}^{\infty} \frac{(-1)^n q^{n(n+1)/2}}{(q;q)_{n+1}} = \sum_{n=1}^{\infty} \frac{(-1)^{n-1} q^{n(n-1)/2}}{(q;q)_n} = \sum_{n=0}^{\infty} q^n (1;q)_n = 1.$$

Hence

$$\sum_{n=1}^{\infty} \frac{(-1)^n q^{n(n-1)/2}}{(q;q)_n} + 1 = 0.$$

So, we get

$$\sum_{n=0}^{\infty} \frac{(-1)^n q^{n(n-1)/2}}{(q;q)_n} = 0.$$

2. One has

$$\sum_{n=0}^{\infty} \frac{q^{(n+1)(n+2)/2}}{(q;q)_{n+1}} = \sum_{n=0}^{\infty} \frac{q^{(n+1)}}{(q;q^2)_n}.$$
 (c1)

Indeed, by setting z = 1 in the identity (A2) we obtain

$$\sum_{n=0}^{\infty} \frac{q^{(n+1)(n+2)/2}}{(q;q)_{n+1}} = \sum_{n=0}^{\infty} q^{n+1}(-q;q)_n.$$

Then, (12) yields

$$\sum_{n=0}^{\infty} \frac{q^{(n+1)(n+2)/2}}{(q;q)_{n+1}} = \sum_{n=0}^{\infty} \frac{q^{(n+1)}}{(q;q^2)_n}.$$

As a combinatorial interpretation to the identity (c1) (see [5, eq. (5), p. 6]), we have

$$\sum_{n=0}^{\infty} \frac{q^{(n+1)}}{(q;q^2)_n} = \sum_{m=1}^{\infty} \sum_{n=1}^{\infty} a(m,n)q^{n+1},$$

where a(m, n) counts the number of partition of an integer n with odd parts and the number of parts equal m.

3. We have

$$\sum_{n=0}^{\infty} \frac{q^{n^2}}{(q;q^2)_{n+1}} = \sum_{n=0}^{\infty} \frac{q^n}{(q;q^2)_n(-q^2;q^2)_n}.$$
 (c2)

Indeed, identity (A3) with z = 1/q gives

$$\sum_{n=0}^{\infty} \frac{q^{n^2}}{(q;q^2)_{n+1}} = \sum_{n=0}^{\infty} q^n (-q;q^2)_n.$$

Using identity (13), we get (c2).

A combinatorial interpretation to the identity (c2) (see [5, p. 12]), the left hand is the generating function of partition of n into the odd parts less twice the smallest part the right hand is the generating function of partition of n into odd and distinct parts.

Theorem 3. For all $p \in \mathbb{N}$, we have

(37)
$$\sum_{n=0}^{\infty} \frac{q^{n+1}}{(q^{p+n+1};q)_{n+1}} = \sum_{n=0}^{\infty} \frac{q^{np+n+1}}{(q^{n+1};q)_{n+1}},$$

(38)
$$\sum_{n=0}^{\infty} \frac{z^n q^{n(n+1+p)/2}}{(q;q)_{n+1}} = \sum_{n=0}^{\infty} q^n (-zq^p;q)_n$$

(39)
$$\sum_{n=0}^{\infty} \frac{q^{n(n+1)/2}}{(q;q)_n} = \frac{1}{(q^2;q^2)_{\infty}} \sum_{n=0}^{\infty} q^{n(n+1)/2}.$$

Proof. From [2, eq. (2.5), p. 3], we have

$$\chi_0(q) = \sum_{n=0}^{\infty} \frac{q^n}{(q^{n+1};q)_n} = 1 + \sum_{n=0}^{\infty} \frac{q^{2n+1}}{(q^{n+1};q)_{n+1}}.$$

So

$$1 + \sum_{n=1}^{\infty} \frac{q^n}{(q^{n+1}; q)_n} = 1 + \sum_{n=0}^{\infty} \frac{q^{2n+1}}{(q^{n+1}; q)_{n+1}}$$

and then

$$\sum_{n=0}^{\infty} \frac{q^{n+1}}{(q^{n+2};q)_{n+1}} = \sum_{n=0}^{\infty} \frac{q^{2n+1}}{(q^{n+1};q)_{n+1}}.$$

We notice that (37) is true for $p \in \{0, 1\}$. We assume that (37) holds up to order p, then

$$\sum_{n=0}^{\infty} \frac{q^{n+1}}{(q^{n+p+2};q)_{n+1}} = \sum_{n=0}^{\infty} \frac{q^{2n+1}}{(q^{n+p+1};q)_{n+1}}$$

or

$$\sum_{n=0}^{\infty} \frac{q^{2n+1}}{(q^{n+p+1};q)_{n+1}} = \sum_{n=0}^{\infty} \frac{q^{np}q^{2n+1}}{(q^{n+1};q)_{n+1}} = \sum_{n=0}^{\infty} \frac{q^{n(p+1)+n+1}}{(q^{n+1};q)_{n+1}}.$$

Hence, our result is true for p+1 and therefore for all $p \in \mathbb{N}$. Let us prove (38). Using identities (32) and (33), we get

$$\sum_{n=0}^{\infty} \frac{z^n q^{\frac{n(n+1+p)}{2}}}{(q;q)_{n+1}} = \sum_{n=0}^{\infty} z^n q^{\frac{n(n+1+p)}{2}} \sum_{m=0}^{\infty} q^m \begin{bmatrix} n+m \\ m \end{bmatrix}_q$$
$$= \sum_{m=0}^{\infty} q^m \sum_{n=0}^{\infty} z^n q^{\frac{n(n+1+p)}{2}} \begin{bmatrix} n+m \\ n \end{bmatrix}_q.$$

Let k = m + n, i.e., m = k - n. Then, we obtain

$$\sum_{m=0}^{\infty} q^m \sum_{n=0}^{\infty} z^n q^{\frac{n(n+1+p)}{2}} {n+m \brack n}_q = \sum_{k=0}^{\infty} q^k \sum_{n=0}^k z^n q^{\frac{n(n+p-1)}{2}} {k \brack n}_q$$

$$= \sum_{k=0}^{\infty} q^k \sum_{n=0}^k (-1)^n (-zq^p)^n q^{\frac{n(n-1)}{2}} {k \brack n}_q$$

$$= \sum_{k=0}^{\infty} q^k (-zq^p; q)_k.$$

Now, it remains to prove (39). We have (see [1, Equation (3.1)])

$$\sum_{n=0}^{\infty} \frac{(-1)^n q^{n(n-1)/2} x^n}{(q;q)_n} = (x;q)_{\infty}.$$
 (c)

Then, replacing x by -q in (c) gives

$$\sum_{n=0}^{\infty} \frac{q^{n(n+1)/2}}{(q;q)_n} = (-q;q)_{\infty}$$

or

$$\sum_{n=0}^{\infty} q^{n(n+1)/2} = (-q; q)_{\infty} (q^2; q^2)_{\infty}.$$

Moreover

$$\sum_{n=0}^{\infty} \frac{q^{n(n+1)/2}}{(q;q)_n} = \frac{1}{(q^2;q^2)_{\infty}} \sum_{n=0}^{\infty} q^{n(n+1)/2}.$$

This proves identity (39).

Application 2. 1. Let

(40)
$$f_p(q) = \sum_{n=0}^{\infty} \frac{q^{np+n+1}}{(q^{n+1}; q)_{n+1}}.$$

Equation (40) with p = 0 gives

$$f_0(q) = q\chi_1(q).$$

Hence, the function $f_0(q)$ is the generating function for partitions of n in which no part is as large as twice the smallest part.

2. By (40) with p = 1 yields

$$f_1(q) = \sum_{n=0}^{\infty} \frac{q^{2n+1}}{(q^{n+1};q)_{n+1}}.$$

Then, the function $f_1(q)$ is the generating function for the partitions of n into odd parts and which no part is as large as twice the smallest part.

OPEN PROBLEMS

Based upon the work presented in this paper, we find it to be worthwhile to motivate the interested reader to consider the following related open problems.

a) For any function $g_n(q)$, if $|g_n(q)| < 1$, then show that:

$$\sum_{n=0}^{\infty} \frac{g_n(q)}{(q;q)_n} = \frac{1}{(q^2;q^2)_{\infty}} \sum_{n=0}^{\infty} g_n(q).$$
 (47)

b) Discuss the various properties for the identity given in (27).

ACKNOWLEDGEMENT

The research work of the M.P. Chaudhary was sponsored by the Major Research Project of the National Board of Higher Mathematics (NBHM) of the Department of Atomic Energy (DAE) of the Government of India by its sanction letter (Ref. No. 02011/12/2020 NBHM (R.P.)/R D II/7867) dated 19 October 2020. The research work of S. Guiben and K. Mazhouda was sponsored by Algebra, Number Theory and Nonlinear Analysis Lab (Code: LR18ES15), Faculty of Sciences of Monastir, University of Monastir.

References

- [1] G. E. Andrews, Partition with short sequences and mock theta function, Proceedings of the National Academy of Sciences of the United States of America, 102 (13) (2005), 4666-4671.
- [2] G. E. Andrews and F. G. Garvan, Ramanujan's lost notebook VI: The mock theta conjuctures, Advances in Mathematics, 73 (1989), 242-255.
- [3] G. E. Andrews, K. Bringman, K. E. Mahlburg, Double series representations for Schur's partition function and related identities, Journal of Combinatorial Theory – Series A, 132 (2015), 102-119.
- [4] G. E Andrews. Ae Ja Yee, Some identities with mock theta functions $\omega(a)$ and $\nu(q)$, Ramanujan Journal, 48 (2019), 613-622.
- [5] C. Ballantine, H. Burson, A. Folsom, C.-Y. Hsu, I. Negrini and B. Wen, mock Theta function and related combinatorics arXiv:2202.03329v1 (2022).
- [6] F. J. Dyson, Rank of partition, Wikipedia, the free encyclopedia, (2005).
- [7] M.P. Chaudhary, Relations between R_{α} , R_{β} and R_m -functions related to Jacobi's triple-product identity and the family of theta-function identities, Notes on Number Theory and Discrete Mathematics, 27 (2) (2021), 1-11.
- [8] C. Adiga, N.A.S. Bulkhali, D. Ranganatha and H.M. Srivastava, Some new modular relations for the Rogers-Ramanujan type functions of order eleven with applications to partitions, Journal of Number Theory, 158 (2016), 281-297.
- [9] M.P. Chaudhary, A family of theta-function identities based upon R_{α} , R_{β} and R_m -functions related to Jacobi's triple-product identity, Publications de l Institut Mathematique-Beograd, 108 (122) (2020), 23-32.
- [10] Y.-S. Choi, it Tenth order mock theta functions in Ramanujan's lost notebook, Inventiones Mathematicae, 136 (3) (1999), 497-569.
- [11] Raksha, H. M. Srivastava, N. V. Sayinath Udupa and B. R. Srivatsa Kumar, New proofs of some Dedekind η-function identities of level 6, Journal of Nonlinear and Convex Analysis, 23 (2022), 607-623.
- [12] Y.-S. Choi, Tenth order mock theta functions in Ramanujan's lost notebook IV, Transactions of the American Mathematical Society, 354 (2) (2002), 705-733.
- [13] S. Ramanujan, The Lost Notebook and Other Unpublished Papers, Narosa Publishing House, New Delhi, 1988.

- [14] S. Ramanujan, Notebooks, Vols. 1 and 2, Tata Institute of Fundamental Research, Bombay, 1957.
- [15] H. M. Srivastava, M.P. Chaudhary and Sangeeta Chaudhary, A family of thetafunction identities based upon combinatorial partition identities and related to Jacobi's triple-product identity, Russian Journal of Mathematical Physics, 27 (1) (2020), 139–144.
- [16] H. M. Srivastaval and N. Saikia, Some Congruences for Overpartitions with Restriction, Mathematical Notes, 107 (3) (2020), 488–498.
- [17] H. M. Srivastava, Rekha Srivastava, M.P. Chaudhary and Salah Uddin, A family of theta-function identities based upon combinatorial partition identities and related to Jacobi's triple-product identity, Mathematics, 8 (6) (2020), Article ID: 918, 1-14.
- [18] H. M. Srivastava, M.P. Chaudhary, S. Chaudhary and G. A. Salilew, Jacobi's tripleproduct identity and an associated family of theta-function identities, Mathematical Notes, 112 (5) (2022), 755–762.

M.P. CHAUDHARY

International Scientific Research and Welfare Organization (Albert Einstein Chair Professor of Mathematical Sciences) New Delhi 110018

India

E-mail address: dr.m.p.chaudhary@gmail.com

SALEM GUIBEN

FACULTY OF SCIENCE OF MONASTIR DEPARTMENT OF MATHEMATICS, 5000 MONASTIR

Tunisia

E-mail address: guibensalem75@gmail.com

KAMEL MAZHOUDA

University of Sousse

HIGHER INSTITUTE OF APPLIED SCIENCES AND TECHNOLOGY 4003 SOUSSE

Tunisia

E-mail address: kamel.mazhouda@fsm.rnu.tn